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Solved Examples

1
1. Find the equation of circle whose centre is <§, 5) and radius is

1

2

o Watch Video Solution

2.Find the equation of the circle whose centre is (1,2) and which passes

through the point (4,6).
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3. If the equations of two diameters of a circles are
x +y=6andx + 2y = 4 and the radius is 10, find the equation of

the circle.

° Watch Video Solution

4.If the line 2z — y + 1 = 0 touches the circle at the point (2, 5) and
the centre of the circle lies in the line x +y —9 = 0. Find the

equation of the circle.

o Watch Video Solution

5. Find the equation of the circle which passes through the origin and
cuts off intercepts 6 and 8 from the positive parts of £ and y axes

respectively.
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https://dl.doubtnut.com/l/_vI6DZqqTU9fV
https://dl.doubtnut.com/l/_uGHfnGoFMeKg
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6. Find the equation of the circle which touches : y-axis and has centre

at (2,3)

° Watch Video Solution

7. Find the equation of the circle which touches : y-axis at the origin

and has radius 4.

° Watch Video Solution

8. Find the equation of the circle which touches the lines

x =0,y =0 and = = 4 and lies in the first quadrant.

o Watch Video Solution



https://dl.doubtnut.com/l/_s5dA3qxyFrj3
https://dl.doubtnut.com/l/_oIJKGyI35YFm
https://dl.doubtnut.com/l/_LY5qHK0xcJAU
https://dl.doubtnut.com/l/_eL94fkbTrf0G

9. Find the equation of a circle which touches both the axes and whose

radius is 2 units

° Watch Video Solution

10. Find the equation of the circle which has its centre at the point (3,4)

and touches the straight line bz + 12y — 1 = 0.

o Watch Video Solution

11. Find the equations of the circles passing through two points on y-

axis at distance 3 from the origin and having radius 5.

o Watch Video Solution

12. Find the equation of a circle which passes through the point (2, 0)

and whose centre is the limit of the point of intersection of eth lines


https://dl.doubtnut.com/l/_KbUMlZFsWOnX
https://dl.doubtnut.com/l/_0LbRtHqBXVYP
https://dl.doubtnut.com/l/_usVfUrGPdpxC
https://dl.doubtnut.com/l/_l7Fq4slcvn68

%
3z + 5y = land(2 + c)z + 5c%y = lasc1.

o Watch Video Solution

13. Find the equation of the circle with radius 5 whose center lies on

the x-axis and passes through the point (2, 3).

o Watch Video Solution

14. A circle has radius 3units and its centre lies on the liney = « — 1.

Find the equation of the circle, if it passes through (7, 3).

° Watch Video Solution

15. Find the equation of the circle passing through the points

(1, — 2)and(4, — 3) and whose centre lies on the 3z + 4y = 7.

o Watch Video Solution



https://dl.doubtnut.com/l/_l7Fq4slcvn68
https://dl.doubtnut.com/l/_9ieDAno8vH7v
https://dl.doubtnut.com/l/_IlBnLS9Tf9go
https://dl.doubtnut.com/l/_zP7APRYw5V4C

16. One diameter of the circle circumscribing the rectangle ABCD is
4y = x + 7. If the coordinates of A and B are (-3,4) and (54)

respectively, find the equation of the circle.

° Watch Video Solution

17. Find the equation of the circle which touches the coordinate axes

and whose centre lies on the line x — 2y = 3.

o Watch Video Solution

18. A circle of radius 2 lies in the first quadrant and touches both the
axes. Find the equation of the circle with centre at (6, 5) and touching

the above circle externally.

o Watch Video Solution



https://dl.doubtnut.com/l/_zP7APRYw5V4C
https://dl.doubtnut.com/l/_KoHuzMC8RiNA
https://dl.doubtnut.com/l/_uxc8HGg0Aycr
https://dl.doubtnut.com/l/_lCQ5mvD0yoT2
https://dl.doubtnut.com/l/_E9yl4hxZJR1g

19. Find the equation of a circle of radius 5 which is touching another

circlez? + y2 — 2x — 4y — 20 = 0 at (5,5).

o Watch Video Solution

20. Find the equation of the circle with center at (3, — 1) and which

cuts off an intercept of length 6 from the line 2z — 5y + 18 =0

o Watch Video Solution

21. Find the equations of the circles touching y-axis at (0,3) and making

an intercept of 8 units on the x-axis.

° Watch Video Solution

22. Find the equation of the circle which touches the axis of = at a

distance 3 from the origin and cuts an intercept of length 6 on the axis


https://dl.doubtnut.com/l/_E9yl4hxZJR1g
https://dl.doubtnut.com/l/_na4Yx4Nu1Pn8
https://dl.doubtnut.com/l/_94VnLrqcFn8e
https://dl.doubtnut.com/l/_klQcgLD8tiMV

of y.

o Watch Video Solution

23. A circle of radius 5 units touches the coordinate axes in first
quadrant. If the circle makes one complete roll on X-axis along the

positive direction of X-axis, find its equation in the new position.

° Watch Video Solution

24.Find the centre and radius of the circles(z + 5)> + (y — 3)* = 36

° Watch Video Solution

25. Find the centre and radius of each of the following circle:

2?4y —r+2y—-3=0

o Watch Video Solution



https://dl.doubtnut.com/l/_klQcgLD8tiMV
https://dl.doubtnut.com/l/_YqacJYbSVkSb
https://dl.doubtnut.com/l/_NcoYf0ymX035
https://dl.doubtnut.com/l/_rIKMlVa7t1kI

26. Find the centre and radius of the circle

3224+ 3y — 8z — 10y +3=0

o Watch Video Solution

27. Prove that the radii of the circles
4y’ =1,2"=9y* -2z —6y=6and z® +9°> — 4z — 12y =9

are in AP.

o Watch Video Solution

28. Find the coordinates of the middle point of the chord which the

circle z? + y? + 4z — 2y — 3 = Ocuts offon thelinez —y+2 =10

° Watch Video Solution



https://dl.doubtnut.com/l/_rIKMlVa7t1kI
https://dl.doubtnut.com/l/_yaaeGogIsCIw
https://dl.doubtnut.com/l/_EI6oVP5fBgnX
https://dl.doubtnut.com/l/_ncXCMoF8wQRJ

29. about to only mathematics

o Watch Video Solution

30. Find the radius of the circle
(mcosa—l—ysina—a2) + (azsina—ycosa—b2) =k, if «
varies, the locus of its centre is again a circle. Also, find its centre and

radius.

° Watch Video Solution

31. Find the equation of the circle whose centre is (h, k) and which

passes through the point (p, q).

° Watch Video Solution



https://dl.doubtnut.com/l/_sNCa4zRTUZGT
https://dl.doubtnut.com/l/_wrEdmPujs27G
https://dl.doubtnut.com/l/_r6Bxwoo6TdEO

32. The radius of the circle passing through the vertices of the triangle

formed by thelinesz +y=2,3x —4y =6,z —y =20

° Watch Video Solution

33. Find the equation of the circle passing through the origin and the

points where the line 3z + 4y = 12 meets the axes of coordinates.

° Watch Video Solution

34. Find the equation of the circle passing through the points

(1, — 2)and(4, — 3) and whose centre lies on the 3z + 4y = 7.

° Watch Video Solution

35. about to only mathematics
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https://dl.doubtnut.com/l/_YxCX3yl68Sbu
https://dl.doubtnut.com/l/_fQiXNYEreS7V
https://dl.doubtnut.com/l/_y8pmnlJnqQpf
https://dl.doubtnut.com/l/_o3e5c8htQJI9
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36. Find the equation of the circle which passes through the centre of
the circle z? + y% 4+ 8z + 10y — 7 = 0 and is concentric with the circle

22 + 2% — 8z — 12y — 9 =0

° Watch Video Solution

37.Find the equations of the circles touching y-axis at (0,3) and making

an intercept of 8 units on the x-axis.

o Watch Video Solution

38. The equation of circle which passes through (1, -1) and which

touches the line 6z + y — 18 = 0 at point (3, 0) is

° Watch Video Solution



https://dl.doubtnut.com/l/_o3e5c8htQJI9
https://dl.doubtnut.com/l/_RnR2KXsAWDbH
https://dl.doubtnut.com/l/_ahSfsFZGZePq
https://dl.doubtnut.com/l/_NnE5rnDZKsD5
https://dl.doubtnut.com/l/_O1UpO4vRXIuM

39. Show that a cyclic quadrilateral is formed by the lines
5 +3y =9,z = 3y, 2z = yand x + 4y + 2 = 0 taken in order. Find

the equation of the circumcircle.

o Watch Video Solution

40. Examine whether the following equation represents a circle or not :

322+ 3y  +2ey+3z+y=0

° Watch Video Solution

41. Examine whether the following equation represents a circle or not :

4z® + 4y° + 122 + 8y + 40 = 0

° Watch Video Solution



https://dl.doubtnut.com/l/_O1UpO4vRXIuM
https://dl.doubtnut.com/l/_2FXrqDScIt7e
https://dl.doubtnut.com/l/_KSkE9IEWCojs

42.Examine whether that equations reprsent a circle, point or no circle

22+ y? -3z +3y+10=0

o Watch Video Solution

43. Examine whether that equations reprsent a circle, point or no circle

::c2—|—y2—|—2:c—|—1:0

° Watch Video Solution

44.Examine whether that equations reprsent a circle, point or no circle

cxl 4yt —1=0

° Watch Video Solution

45. Find the equation of the circle when the end points of a diameter

are (5, —3) and (2, — 4). Also find its centre and radius.


https://dl.doubtnut.com/l/_o3DqXKbov9gr
https://dl.doubtnut.com/l/_rjHPe72Lnvsr
https://dl.doubtnut.com/l/_RPe9Nla4wFz4
https://dl.doubtnut.com/l/_20oAmbvGG7gn

° Watch Video Solution

46. The abscissae of two points A and B are the roots of the equation
22 + 2ax — b® = 0 and their ordinates are the roots of the equation
z? + 2px — q2 = 0. Find the equation and the radius of the circle with

AB as diameter.

° Watch Video Solution

47. Find the equation of the circle passing through the origin and the

points where the line 3z + 4y = 12 meets the axes of coordinates.

° Watch Video Solution

48.Find the equation of the circle whose diameter is the portion of the

line 3z + 4y — 14 = 0, intercepted by the lines y = z and 1lx = 4y.

o Watch Video Solution



https://dl.doubtnut.com/l/_20oAmbvGG7gn
https://dl.doubtnut.com/l/_X4BFbRq7lp1b
https://dl.doubtnut.com/l/_Ss6VS6ZjTekV
https://dl.doubtnut.com/l/_zHnGOQqLp39m

49. The sides of a squareare z = 1,z = 3,y = 2 and y = 4.Find the
equation of the circle drawn on the diagonal of the square as its

diameter.

° Watch Video Solution

50. Find the parametric equations of that circles : 3z + 3y* = 4

° Watch Video Solution

51. Find the parametric form of the equation of the circle

22 +y? +pz+py=0.

° Watch Video Solution



https://dl.doubtnut.com/l/_zHnGOQqLp39m
https://dl.doubtnut.com/l/_R03N2Pffu8xy
https://dl.doubtnut.com/l/_5FTKbmtGU5Oo
https://dl.doubtnut.com/l/_E1U4XnTDQUmO

52. Find the parametric equations of that circles

222 + 2% — 5 —Ty—3=0

o Watch Video Solution

53. Find the -equation of a circle whose diameters are

2 — 3y + 12andx + 4y — 5 = 0 and area is 154squareunits-

° Watch Video Solution

54. Find the Cartesian euqgaiton of that curves whose parametric

equation: z =7+ 4cosa,y = — 3 + 4sina

° Watch Video Solution

55. Find the Cartesian euqaiton of that curves whose parametric

equation:xz =5+ 3cosf,y = 7+ 3sinf


https://dl.doubtnut.com/l/_jL6dQmrMHm91
https://dl.doubtnut.com/l/_zSfU1ydEqBqi
https://dl.doubtnut.com/l/_1eCI0a2Z32Hu
https://dl.doubtnut.com/l/_eA6u8Ctz7Afi

° Watch Video Solution

56. Find the Cartesian euqgaiton of that curves whose parametric

equation:z = cosf + sinf + 1, y = sinf — cos 6 + 2

o Watch Video Solution

57. Show that equations = = acos@ + bsinf, y = asinf — bcos

represents a circle, wheter 6 is a parameter.

° Watch Video Solution

2
58.Show that the point (x,y) given by x= 153

on a circle

o Watch Video Solution



https://dl.doubtnut.com/l/_eA6u8Ctz7Afi
https://dl.doubtnut.com/l/_sg9FMkSze4Ut
https://dl.doubtnut.com/l/_6wfrfajjOYtL
https://dl.doubtnut.com/l/_nOeNYPIDZeWZ

Exercise

1. Find the equation of the circle with : Centre( — 3, 2) and radius5.

° Watch Video Solution

2. Find the equation of the circle with

Centre( — 3, — 2) and radiusT.

° Watch Video Solution

3.Find the equation of the circle with: Centre (a, a) and radius v/2a .

o Watch Video Solution

4.Find the equation of the circle with : Centre(1, — 5) and radius?.

° Watch Video Solution



https://dl.doubtnut.com/l/_suBg7Xfh5Xnj
https://dl.doubtnut.com/l/_C5KgeQpPx3Hs
https://dl.doubtnut.com/l/_6QycdzHvIy4A
https://dl.doubtnut.com/l/_rF3TMWyveyJP

5. Find the equation of the circle with centre at (0, 0) and radius 4.

° Watch Video Solution

6. Find the equation of the circle with centre : (1, 1) and radius \/5

° Watch Video Solution

7.Find the equation of the circle with: centre (-2,3) and radius 4.

° Watch Video Solution

8. Find the equation of the circle with centre : (0, 2) and radius 2

° Watch Video Solution



https://dl.doubtnut.com/l/_rF3TMWyveyJP
https://dl.doubtnut.com/l/_ft5VVM4EXOeE
https://dl.doubtnut.com/l/_C7MZSeWJwvxt
https://dl.doubtnut.com/l/_0yE0Ktdrq5YK
https://dl.doubtnut.com/l/_rP0wzO4BD7RO
https://dl.doubtnut.com/l/_DuGkyJzlhkCp
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9. Find the equation of the circle with centre : (E’ Z) and radius 50

o Watch Video Solution

10.

° Watch Video Solution

1. Find the equation of the circle with centre (-a, -b) and radius

Va? — b,

o Watch Video Solution

12. Find the equation of the circle with: Centre (a cosa, a s € ) and

radius a-

° Watch Video Solution



https://dl.doubtnut.com/l/_DuGkyJzlhkCp
https://dl.doubtnut.com/l/_j6MeSk2XYmdt
https://dl.doubtnut.com/l/_9qQnwtlMM7mk
https://dl.doubtnut.com/l/_Y4J8ijPOCCsA
https://dl.doubtnut.com/l/_pMGrskKCFjC9

13. Find the equation of the circle with

Centre( — 1, — 2) and diameter25.

° Watch Video Solution

14. Find the equation of the circle passing through (0, 0) and making

intercepts a and b on the coordinate axes.

o Watch Video Solution

15. Find the equation of the circle passing through the origin and
cutting intercepts 10 and 24 from the positive side of = and y axis

respectively

° Watch Video Solution



https://dl.doubtnut.com/l/_pMGrskKCFjC9
https://dl.doubtnut.com/l/_czYE6C5IKYpx
https://dl.doubtnut.com/l/_FAIlGIIux2fa

16. Find the equation of the circle touching : x-axis andhaving centre at

(4,3)

° Watch Video Solution

17. Find the equation of the circle touching : x-axis at the origin and

having radius 10

° Watch Video Solution

18. about to only mathematics

° Watch Video Solution

19. The equation of circle having centre at (2,2) and passes through the

point (4,5) is

| o Watch Video Solution


https://dl.doubtnut.com/l/_jdN6iGr11Vfh
https://dl.doubtnut.com/l/_5nG8ksXwFlLM
https://dl.doubtnut.com/l/_mXXiBcEmWE3K
https://dl.doubtnut.com/l/_KgJOGitUiCqB

20. Find the equation of image of the circle (z — 1)* + (y + 2)® = 5°

in the x-axis.

o Watch Video Solution

21. Find the equation of the circle passing through the point (2, 4) and
centre at the point of intersection of the lines

r—y=4and 2x +3y= —T.

o Watch Video Solution

22. | the -equations of two diameters of a circles are
2x + y = 6 and 3z 4 2y = 4 and the radius is 10, find the equation of

the circle.

o Watch Video Solution



https://dl.doubtnut.com/l/_KgJOGitUiCqB
https://dl.doubtnut.com/l/_szA7r9lzuPa7
https://dl.doubtnut.com/l/_JX294KQplZzn
https://dl.doubtnut.com/l/_wHDEvxBPbbLw

23. Find the equation to the circle which passes through the point of
intersection of 3z —2y—1=0 and 4 +y — 27 =0 and whose

centre is (2, 3)

o Watch Video Solution

24. Find the equation of the circle whose centre is (2, — 3) and which
pass through the point of intersection of

3z + 2y = 11 and 2z + 3y = 4.

o Watch Video Solution

25. Find the equation of the circle passing through the centre of the
circle 22 +y? — 4z — 6y = 8 and being concentric with the circle

x2+y2—2x—8y:5.

o Watch Video Solution



https://dl.doubtnut.com/l/_MpGnGP182iFg
https://dl.doubtnut.com/l/_6wsfsPIe4Hf9
https://dl.doubtnut.com/l/_4FJBsUDePqd9
https://dl.doubtnut.com/l/_iQI9OmIfYYaB

26. Find the equation of the circle passing through the point of
intersection of the lines z + 3y = 0and 2x — 7y = 0 and whose
centre is the point of intersection of the lines

x+y+1l1=0andx —2y+4=0.

o Watch Video Solution

27. Find the equation of circle whose centre is the point (1, — 3) and

touches theline2z —y—4 =20

° Watch Video Solution

28. Find the equation of the circle of radius 5 whose centre lies on y-

axis and which passes through the point (3, 2).

° Watch Video Solution



https://dl.doubtnut.com/l/_iQI9OmIfYYaB
https://dl.doubtnut.com/l/_Lb1nHxmPXqCq
https://dl.doubtnut.com/l/_OmS19SZzR8DJ

29.Find the equation of the circle whose radius is 5 and centre lies on

the positive side of x-axis at a distance 5 from the origin.

° Watch Video Solution

30. Find the equation of the circle which passes through the points

(—1,2) and (3, — 2) and whose centre lies on the line x — 2y = 0.

o Watch Video Solution

31. Find the equation of circle passing through the point (2,3) and (-1,1)

and whose centre is on the linex-3y-11=0

o Watch Video Solution

32. Find the equation of the circle which passes through the points

(2, — 2),and (3,4) and whose centre lies on the linex + y = 2.


https://dl.doubtnut.com/l/_k8f9IMqnQNhw
https://dl.doubtnut.com/l/_K0fs4jlHrTFy
https://dl.doubtnut.com/l/_eiFvOeCXEeuF
https://dl.doubtnut.com/l/_xpQ5eF5d3lKO

° Watch Video Solution

33.Find the equation of the circle passing through the points (4,1) and

(6,5) and whose centre lies on the line 4x+y = 16.

o Watch Video Solution

34. Find the equation of the circle which touches the y-axis at a
distance of +4 from the origin and cuts off an intercept 6 from the x-

axis.

o Watch Video Solution

35. Does the point ( — 2.5, 3.5) lie inside, outside or on the circle

z? 4 y? = 252

° Watch Video Solution



https://dl.doubtnut.com/l/_xpQ5eF5d3lKO
https://dl.doubtnut.com/l/_C8jHpCMsVU3P
https://dl.doubtnut.com/l/_BaTmUquowEWP
https://dl.doubtnut.com/l/_fDFZp0lAgaLm

36. Find the centre and radius of the circles

w2+ y? — 8z + 10y —12=10

° Watch Video Solution

37. Find the «centre and the radius of the circle

22 + 9% + 8z + 10y — 8 = 0.

° Watch Video Solution

38. Find the centre and radius of the circle 22% + 2y?> — 2 = 0

° Watch Video Solution

39. Find the centre and radius of the circles

2> +y? — 4z —8y—45=0

| o Wiak~hh \idAA CAlLiikiAan



https://dl.doubtnut.com/l/_uvJM1Wf9g3ty
https://dl.doubtnut.com/l/_FlokfLzisuRB
https://dl.doubtnut.com/l/_0rargE51Ik19
https://dl.doubtnut.com/l/_FGgh5hzLEYVi
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40. Find the centre and radius of each of that circles

2’ +(y—1)° =2

o Watch Video Solution

41. Find the centre and radius of each of that circles

$_12+ +12_1
2 YT3) T 1

° Watch Video Solution

42. Find the centre and radius of each of that circles

z? +y? — 2z +4y =8

o Watch Video Solution



https://dl.doubtnut.com/l/_FGgh5hzLEYVi
https://dl.doubtnut.com/l/_Y1sWBnYVQNLf
https://dl.doubtnut.com/l/_d9xudcqFDFA5
https://dl.doubtnut.com/l/_iqYK6xIC3egJ

43. Find the centre and radius of each of the following circle:

w2+ y? —dz+6y=>5

° Watch Video Solution

44. Find the centre and radius of the circles

2?2 +y? —8x — 12y —48 =0

° Watch Video Solution

45, Find the centre and radius of the circles : 22 + y*> —az — by = 0

° Watch Video Solution

46. Find the centre and radius of the «circles

322 +3y> + 122 — 18y — 11 =0

| o Wiak~h \idAaA CAlLiikiAan


https://dl.doubtnut.com/l/_XTr5TcBQMtbu
https://dl.doubtnut.com/l/_60Hkwlr44ZZm
https://dl.doubtnut.com/l/_2RVhzALTpGG2
https://dl.doubtnut.com/l/_cXK9PvliBdwD
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47.Find the centre and radius of the circles : 2% + ¢y — 2z + 4y = 8

° Watch Video Solution

48. Find the centre and radius of the «circles

1
E(azz —|—y2) 4+ xcosf + ysind —4 =0

° Watch Video Solution

49, Prove that the centres of the circles ?+79y® =1,

x2+y2—|—6x—2y—1=0and g:2-|—y2—12x+4y: 1 are collinear

o Watch Video Solution



https://dl.doubtnut.com/l/_cXK9PvliBdwD
https://dl.doubtnut.com/l/_ci0QiVvD1WRC
https://dl.doubtnut.com/l/_ZFYbIJ7gdkwV
https://dl.doubtnut.com/l/_CLFNghiDNiD9

50. Prove that the centres of the three circles
e+ y? —dz-6y-12=0,22+¢y>  +2x + 4y — 5= 0 and

z? + y* — 10z— 16y + 7 = 0 are collinear.

o Watch Video Solution

51. Prove that the radii of the circles
4y’ =122 =9y’ -2z —6y=6and z® +9°> — 4z — 12y =9

are in AP.

o Watch Video Solution

52. Prove that the radii of the circles
ety =442 + 47 -8z —24y+15=0and 2 +9°* —4y—5=0

are in arithmetic progression.

° Watch Video Solution



https://dl.doubtnut.com/l/_r7m0l9SMkoNa
https://dl.doubtnut.com/l/_QhUAUBEK9t2D
https://dl.doubtnut.com/l/_5Wm5o42G5Ag2
https://dl.doubtnut.com/l/_RcDcvRufAcSF

53. Find the equation of the circles passing through the three points :

(0,0), (5,0) and (3, 3)

o Watch Video Solution

54. Find the equation of the circles passing through the three points :

(1, 0)’ (Oa 1) and ( - 1a O)

o Watch Video Solution

55. Find the equation of the circles passing through the three points :

(1, — 2), (5, 4) and (10, 5)

° Watch Video Solution

56. Find the equation of the circle passing through the point: (1, 2),

(3, —4)and (5, — 6).


https://dl.doubtnut.com/l/_RcDcvRufAcSF
https://dl.doubtnut.com/l/_IWzMINjj5hMr
https://dl.doubtnut.com/l/_8kFDWx9KayEG
https://dl.doubtnut.com/l/_L7SCgBnn0Eyb

° Watch Video Solution

57. Find the equation of the circle circumscribing the triangle formed

by the straight linesx +y = 6,2x +y =4 and * — 2y = 5.

o Watch Video Solution

58. Find the equation of the circle which is concentric with the circle

z? + y* — 4z + 6y — 3 = 0 and the double of its area.

° Watch Video Solution

59. Find the equation of the circle concentric with the circle

222 + 2y® — 6z + 8y + 1 = 0 and of double its area.

° Watch Video Solution



https://dl.doubtnut.com/l/_L7SCgBnn0Eyb
https://dl.doubtnut.com/l/_isdbhl4DJdMB
https://dl.doubtnut.com/l/_NtZ3l5whX1Ki
https://dl.doubtnut.com/l/_Wx90w8yoIStP

60. Find the equation. of the circle concentric with the

2+ y? + 4z — 8y — 6 = 0 and having radius double of its radius.

o Watch Video Solution

61. Find the equation of the circle concentric with the circle
2?4+ y? —4x —6y—9=0 and passing through the point

(_4’ _5)

° Watch Video Solution

62. Find the equation of the circle passing through the points (1, — 1)
and centre at the intersection of the lines

x—y=4and 2z +3y= — 7

° Watch Video Solution



https://dl.doubtnut.com/l/_P9SEUbkDSi6X
https://dl.doubtnut.com/l/_hWts4OQDYqc9
https://dl.doubtnut.com/l/_iU6F2k8UlMoo

63. The line 52 — y = 3 is a tangent to a circle at the point (2, 7) and

its centre is on theline z 4 2y = 19. Find the equation of the circle.

o Watch Video Solution

64.The line 4x-3y=-12 is tangent at the point (-3, 0) and the line 3x-4y=16

is tangent at the point (4, 1) to a circle. The equation of the circle is

o Watch Video Solution

65. Find the equation of the circle circumscribing the quadrilateral
formed by the straight lines

r—y=0,3r+2y=5z—y=10and 2z + 3y =0

o Watch Video Solution



https://dl.doubtnut.com/l/_8d2pyv3rfeYW
https://dl.doubtnut.com/l/_HW91WoENV1ef
https://dl.doubtnut.com/l/_g4JHOXKTRh18

66. Find the equation of the circle passing through the points

(0, — 1) and (2, 0) and whose centre lies on the line3z +y =5

o Watch Video Solution

67. Find the equaiton of the circle passing through the points

(2, —3) and (3, — 2) and whose centre lies on the line 2z — 3y = 8.

o Watch Video Solution

68. Determine whether the equation represent a circle or not :

3z% — 3y + 4x — 6y + 10=0'

o Watch Video Solution

69. Determine whether the equation represent a circle or not :

52 + 5y? + 2ey + 4 —y+2=0


https://dl.doubtnut.com/l/_wpcoeKL8gF5x
https://dl.doubtnut.com/l/_v9i6VOzwmbzu
https://dl.doubtnut.com/l/_XUPWeSC0QH8H
https://dl.doubtnut.com/l/_odcEUlyk2IaG

° Watch Video Solution

70. Determine whether the equation represent a circle or not :

522 + 5y’ + 4z — 8y — 16 = 0

o Watch Video Solution

71. Determine whether the equation represent a circle or not :

2?4+ y> + 6z — 8y + 50 =0

° Watch Video Solution

72. Determine whether the equation represent a circle, a point or no

circe:z? +y*+z—y=0

° Watch Video Solution



https://dl.doubtnut.com/l/_odcEUlyk2IaG
https://dl.doubtnut.com/l/_jgu6ak1YUWZE
https://dl.doubtnut.com/l/_fIdhM4SWUDqw
https://dl.doubtnut.com/l/_Kak2r2RgRoxa

73. Determine whether the equation represent a circle, a point or no

circle:z? +y* — 6z — 8y +25 =0

o Watch Video Solution

74. Determine whether the equation represent a circle, a point or no

circle: 2% + 4% 4+ 2z + 10y + 26 = 0

o Watch Video Solution

75. Determine whether the equation represent a circle, a point or no

circle: 222 4+ 2y* — 24z + 8y + 120 =0

° Watch Video Solution

76. Find the equation of the circle when the end points of a diameter of

thecircleare: (3,4) and ( — 3, —4)


https://dl.doubtnut.com/l/_Drj89foNrrUs
https://dl.doubtnut.com/l/_scZgTb2KJPPd
https://dl.doubtnut.com/l/_YGKSQ7g0FMLC
https://dl.doubtnut.com/l/_nIDtiiEI43Ty

° Watch Video Solution

77.Find the equation of the circle when the end points of a diameter of

the circleare: ( — 2,3) and (3, — 5)

o Watch Video Solution

78. Find the equation of the circle when the end points of a diameter of

the circle are: (0,0) and (2, — 4)

° Watch Video Solution

79.Find the equation of the circle when the end points of a diameter of

thecircleare: ( —2, —3) and ( — 3, 5)

° Watch Video Solution



https://dl.doubtnut.com/l/_nIDtiiEI43Ty
https://dl.doubtnut.com/l/_gTmadzphFnaR
https://dl.doubtnut.com/l/_8jfiJdZC256D
https://dl.doubtnut.com/l/_2jMz8oDln43x

80. Find the equation of the circle when the end points of a diameter of

the circle are: (p, q) and (r, s)

° Watch Video Solution

81. Find the equation of the circle when the end points of a diameter of

thecircleare: (2,3) and ( — 1, — 3)

o Watch Video Solution

82.Find the equation of the circle when the end points of a diameter of

the circle are: (3,2) and (2, 5)

o Watch Video Solution

83. Find the equation of the circle, the end points of whose diameter

are (2, — 3) and ( — 2, 4).Find its centre and radius.’


https://dl.doubtnut.com/l/_Wj4j7N1e3U6Z
https://dl.doubtnut.com/l/_r8KYw5Q5dCik
https://dl.doubtnut.com/l/_qx0ysGmkqD7T
https://dl.doubtnut.com/l/_9MctT7zBe1AY

° Watch Video Solution

84.Find the equaiton of the circle drawn on the intercept between the

axes made by the line 3z 4 4y = 12 as a diameter.

o Watch Video Solution

85.Find the equaiton of the circle drawn on the intercept between the

axes made by the line 3z 4 4y = 12 as a diameter.

° Watch Video Solution

86. Show that equation of the circle passing through the origin and
cutting intercepts a and b on the coordinate axes s

2 +y* —ax—by=0

° Watch Video Solution



https://dl.doubtnut.com/l/_9MctT7zBe1AY
https://dl.doubtnut.com/l/_3L4Ns0YwFRR2
https://dl.doubtnut.com/l/_uhwoLsjS8G6q
https://dl.doubtnut.com/l/_jv4YOcRcyYU0

87. Find the equation of the circle the end points of whose diameter are
the centres of the cirde : 2’4y’ 46z —14y=1 and

22+ y? — 4z + 10y = 2.

o Watch Video Solution

88. The abscissae of two points A and B are the roots of the equaiton
z? + 2z — a® = 0 and the ordinats are the roots of the equaiton
y? 4+ 4y — b> = 0. Find the equation of the circle with AB as its
diameter. Also find the coordinates of the centre and the length of the

radius of the circle.

o Watch Video Solution

89. If (4]) be an extremity of a diameter of the circle
2 +y* — 2 +6y—15=0, find the coordinates of the other

extremity of the diameter.



https://dl.doubtnut.com/l/_LqvXn62Hejwj
https://dl.doubtnut.com/l/_eJp1AwIgvBu6
https://dl.doubtnut.com/l/_d4fChwMVhvhO

| o Watch Video Solution

90. Find the equation of the circle drawn on the diagonal of the

rectangle as its diameter whose sides are x=4 x=-2,y=5andy=-2.

o Watch Video Solution

91. Find the equaiton of the circle drawn on a diagonal of the rectangle

as its diameter whose sidesare:z =5,z =8, y=4,y=7

° Watch Video Solution

92. The sides of a square are x =6, =9, y = 3andy = 6. Find
the equation of a circle drawn on the diagonal of the square as its

diameter.

o Watch Video Solution



https://dl.doubtnut.com/l/_d4fChwMVhvhO
https://dl.doubtnut.com/l/_iS8Osa409bze
https://dl.doubtnut.com/l/_cEbnm7eLaY1p
https://dl.doubtnut.com/l/_lTbEC3rp7zsT
https://dl.doubtnut.com/l/_3VlE9IiaiI2b

93. Find the equation of the circle circumscribing the rectangle whose

sidesare:z =4,z = —5y=5y= —3

° Watch Video Solution

94. Find the equation of the circle circumscribing the rectangle whose

sidesare:z =6,z = —3,y=3,y= —1

° Watch Video Solution

95. Find the equation of the circle circumscribing the rectangle whose

sidesarex — 3y =4, 3z +y =32, x — 3y = 14 and 3z + y = 62.

o Watch Video Solution

96. Find the parametric equation of the circles : 2% + y? = 9

| ° Watch Video Solution


https://dl.doubtnut.com/l/_3VlE9IiaiI2b
https://dl.doubtnut.com/l/_llEStVvvPiSv
https://dl.doubtnut.com/l/_N3jyRfSNEKzF
https://dl.doubtnut.com/l/_hJQi3xEAt7ij

97. Find the parametric equation of the circles
2 2 _

+y " +2xr—-4y—1=0
o Watch Video Solution

98. Find the parametric equation of the circles
2 2 _

Tty —2x+4y—4=0
° Watch Video Solution

99. Find the parametric equation of the circles

3z + 3y +4x —6y—4=0

° Watch Video Solution



https://dl.doubtnut.com/l/_hJQi3xEAt7ij
https://dl.doubtnut.com/l/_HhzDgPoHpn1w
https://dl.doubtnut.com/l/_R28zAljT5JZl
https://dl.doubtnut.com/l/_hDu4cBrWCP3Y

100. Find the Cartesian equation of the curves whose parametric

equation are: x = 5cos 6,y = 5sin6

o Watch Video Solution

101. Find the Cartesian equation of the curves whose parametric

equationare:xz = a + ccosa,y = b+ csina

o Watch Video Solution

102. Find the Cartesian equation of the curves whose parametric

equationare:z = 3cosa,y = 3sina

° Watch Video Solution

103. Find the Cartesian equation of the curves whose parametric

equationare:x =1+ 3cosf,y = 2 — 3sinf


https://dl.doubtnut.com/l/_hAr3VcdLdhYQ
https://dl.doubtnut.com/l/_GGNN6DJXYxW5
https://dl.doubtnut.com/l/_n5uEH734zQrh
https://dl.doubtnut.com/l/_eGyNUdQbSIQk

° Watch Video Solution

104. Find the Cartesian equation of the curves whose parametric

equation are: xz = cos + sinf, y = sinf — cos 6

o Watch Video Solution

105. Find the Cartesian equation of the curves whose parametric

200  5(4-¢)

equationare:z = — — y= —°
q 4+ﬁ’y 4+ 2

o Watch Video Solution

106. Prove that :  cos @ + ysinf = a and zsinf — ycos @ = b are the

parametric equations of a circle for all 6 satisfying 0 < 0 < 27

o Watch Video Solution



https://dl.doubtnut.com/l/_eGyNUdQbSIQk
https://dl.doubtnut.com/l/_9RllioJFR1Yk
https://dl.doubtnut.com/l/_5u7qZcy99ndY
https://dl.doubtnut.com/l/_ptuolAtRwDoi
https://dl.doubtnut.com/l/_5rHVRc8ibJBt

107. Show that : x = acosf — bsinf and y = asinf + bcos 6,

represent a circle where 0 is the parameter.

° Watch Video Solution

108. Show that the point (z, y) , where ¢ = 5cos,y = — 3 + 5sinb,

lies on a circle for all values of ‘theta

o Watch Video Solution

109. Show that the point (z, y), where x = a + rcos 6,y = b + rsiné,

lies on a circle for all values of 6.

° Watch Video Solution



https://dl.doubtnut.com/l/_5rHVRc8ibJBt
https://dl.doubtnut.com/l/_NHfGXaCbPm5e
https://dl.doubtnut.com/l/_QNJYmDecniVk

